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ML.A. (Previous) Examination, July/August 2011
ECONOMICS
(Directorate of Distance Education)
Paper — I : Micro Economic Theory

Time : 3 Hours Max. Marks : 70/80
Instructions : 1) Students who have attended 30 marks IA Scheme will have to answer
for total of 70 marks.
30 eos1e 50508 TSN 206 e PR 70 05T GIMEN vFOTIE,

2) Students who have attended 20 marks IA scheme will have to answer
for total of 80 marks.

20 208778 50308 a’g’éaﬂg B0/t Sp] Qme0 80 c2o571e ejg’/féﬂff VFORI.

3) Answer any FIVE of the following (Section A) questions.
Each question carry 14 marks (for both 70/80 marks schemes).

4) Q. No. (11) in Section B is compulsory for 80 marks scheme only.

SECTION - A

1. Examine the relationship between economic theory and economic policy with
suitable examples.
SHFS AT TN SHFE LeINY SRR #ouocﬁdoﬁg{ AT PUTOBOBNER0ON TOHCOR.

2. Critically evaluate Samuelson’s revealed preference theory.
AR, 0T RS TRT BRI WO %méoéda’% QROTHFZTN T, CTOR.

3. Give a comparative analysis of utility approach and indifference curve approach
to the theory of demand.

e3e 8030 AT 08 AT LGOS Torte T, Sesdod GRsEne S00mwgs DF RO ek,

4. Examine the structure of production costs in the short and the long run.
BTG TN HEFFIF HE TDOTE YUTTD d?,sgf%f dzééodadgt T0BeAR.

5. Explain the relationship between production function and returns to scale.
YUBITIR LIOLIT TONR W& POT BEED BRNE BT FOLIOFHR) O

P.T.O.
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6. Explain price and output determination under monopoly. How it affects social
welfare ?

TR, WRTIBEEDO, WS TN YUBITODH @@rddﬁ;ﬂ QOR. QT AITWILIE B £9T3 06
Sert FWOrFEoEsd LIeTIBE ?

7. Discuss the features of oligopolistic market. Explain Curnot’s model of duopoly.
3O 2 A, IRTOTLIPI WBLANTT) LS R ERETDF £3T[T 0,2 A, I TTLIPT TBIRTOODT)
QWOR.

8. Discuss the importance of equilibrium analysis. Distinguish between partial and
general equilibrium analysis.
FRBREOT DFERTOD BTG FD), WWF AL LPNT: TN WBRT, ARBRCV[NY IBODT
T[TYANT, 230

9. What is input-output analysis ? Discuss its importance in economic analysis.
BRBITE-TOLFY DR 0BT ? SHFT VFERBODY, BT SOTE 53, 23F R

10. What is rent ? Evaluate Ricardian theory of rent.
rieed 0TTesd ? OFTRF eTRT Tiees AT OB [V, CTOR.

SECTION - B

11. Examine Baumol’s sales maximisation hypothesis.
LIS TEIT ST NOKEFTEIT TE50eCIm2, WOSCORO.

OR/egw

Explain the Marginal productivity theory of distribution.
THOLBOD AETIOT YUTDWEZOD ATIWOTT), SBORD.
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M.A. (Previous) Examination, July/August 2011
(Directorate of Distance Education) (Repeaters)
ECONOMICS
Paper - II : Development Economics

Time : 3 Hours Max. Marks : 70

Instructions : 1) Students who have attended 30 marks IA Scheme will have

to answer for total of 70 marks.
30 wosn 0308 @Sy LOF DR PEND 70 eos G Inen
VIOV

2) Students who have attended 20 marks IA Scheme will have
to answer for total of 80 marks.
20 eosne 0305 w30 LTE DR PFN0 80 o5 G I
NVFOVIL.

3) Answer any FIVE of the following (Section — A) questions.
Each question carries 14 marks (for both 70/80 marks
Schemes.)

4) Q.No. (11) in Section — B is compulsory for 80 marks Scheme
only.

SECTION - A

1. Explain the role of Human Resource Development in Economic development.
SHFTRF 0N BRI LR FOTIRUT TFTI) VB0

2. Evaluate the ‘Golden Age’ concept of capital accumulation in the economic
development.

@@r@&p%@no:b@m‘zbdsarmﬁ a’@mddabq 20T BOODTRODT T, eFOR.

3. Explain the role of international trade in the Economic growth.
SRFFYHHODY 0BT, €03 TTTE TIZRHTI VeSO
@ ™ Y ) 2 X

4. Discuss the Rostow Theory of stages of Growth.
TRERRS ‘0T TOBNY ™ LT[ %m@o@da’% U3

P.T.O.
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5.

10.

Give an account of unemployment in low income countries.
B0 ST BRODT BeBNTYT ATITR,ENT 273 2,000 2309339, e,

. Explain the importance of agriculture in the economic development of LDCs.

B0TOPT TOTR,NG BHF TR Q0. FACI TR0, Wes0A.
) 9 Q ™ @) 2 R

Examine the Rosenstein Rodon’s Theory of Big Push.
TRRS A" TREEIT TR0 ‘WOTWT LI’ AT OTHI) TOA.

Explain the causes of vicious circle of poverty and suggest remedies.
“WESIT DRFT T TOTLNTR) 0% 5308 W3 ATHN BN, ARWR.

Explain the theory of Innovation enunciated by J.A. Schumpeter.
.. Bo0ReRITT T ETIOATI @?pdg)@é T oédcﬁ.l QWOR..

Discuss the role of taxation in the development of the economy.
w@;aw%@@@m%ﬁmf mgw@ W3R

SECTION - B

(Compulsory question for 80 marks Scheme only.)

11.

Critically examine Karlmarx contribution to Economic Theory.
ST %m@o@@ T FRRE T AeRT %Jacéaﬁﬁeﬁmq QTIF TN TWOSeAR.

OR

Discuss Lewis theory — Unlimited Supply of Labour.
IR 508 FRYFOD BI0Z08 SeAF B30 ATTOTIR, LLF R



OO0 O A0 0 DPA - 530 (Eco)

ML.A. (Previous) Examination, July/August 2011

(Directorate of Distance Education)
ECONOMICS
Paper - III : Quantitative Methods of Economists (Freshers)

Time : 3 Hours Max. Marks : 70/80

Instructions : 1) Students who have attended 30 marks IA scheme will

have to answer for total of 70 marks.
30 c2057% 0307 a’zgéoi)eg 208 O C&3 DT PFmed 70 eosrre
GIMET VSO

2) Students who have attended 20 marks IA scheme will
have to answer for total of 80 marks.
20 c2057¢7 50305 w’%’éai)@g; 2000 G CRTE SYap) QL 80 o5
GITEN VFORI D

3) Answer any FIVE of the following questions. Each
questions carry 14 marks for both 70/80 marks scheme.
and Question No. (11) in Section — B is compulsory for
80 marks Scheme only.

4) Answer any FIVE of the following choosing not less than
TWO from each Part.
FNTIITES) CVRI TR 030 G S GRIT0ET DT JIMTH
2 SROGD GVIOR.

5) All questions carry equal marks.
DD GI/TELO TeVO& LS05/T50.

SECTION - A
PART - A
YN - D

1. For the following demand and supply functions obtain the new equilibrium
price and quantity if a specific tax of Rs. 3/- unit is imposed on the supplier.
D=220-3P
S=3P-60

Roees émé,idm e 3308 Del LoLBNET T8¢ w@&éﬁé on.3 é@ﬁojoa’p% NBITFO 30e TITS
YOOI BRR RRIZR VT 23T 208) FRR AN, FOBILEOD.

P.T.O.
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2. For the following demand and supply functions obtain equilibrium price and
quantity.

D=20-5P—P?
S=6P2+5P-5
zoees ira&icbd e3eqd 2303) QeRT LOLBNET AROBRCVT IS 303Y @—-’jms@mfd‘g{ BOTOE 0.

3. Solve the following set of simultaneous equations using Cramar’s Rule.
TR0 QOB LR TSNS B0EBTENIR WER.

Xy + 5%, — 3x; = 10

4. For the following cost function (TC) find the minimum average cost and show
that at minimum, average and marginal costs are equal.

Te = 2x% + 7x + 18

=oeed éraé,idad %), ﬁz'a; wow§§ TR0 5@5@ FOBILB0D. B RTORO daﬁwﬁ A0RI0D dzi
RBRINT @omd&’g{ 3RO

5. Explain the uses and limitations of quantitative methods in Economic Analysis.

BT IRE DBERFEOD N30 NT YUTOIRENTIFD 308 CTRIBRONIR), E9X.
PART - B
PN - W

6. For the following data compute the standard deviation :

FINI mﬁﬁ mwozéc?r 8e030eRS° c5§ To8.

C.l: 0-10 10 - 20 20 - 30 30 — 40 40 — 50 50 - 60
(Smro3T)

(F): 10 16 15 12 10 7
()

P
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7.

10.

11.

Fit a straight line trend by the method of least squares for the following data :
3INT T9RE, BT [N BT RWB B0V Tead WoLsR), Tes.

Year : 1996 1999 1998 1999 2000 2001 2002
(S=9)
(Sales): 45 55 66 56 68 74 98
(Fnoew)

. What are index nuclears ? Explain the steps involved in its construction.

R03,0BNREOTTERD 7 RN TLFED WIRORTOR QNT BOBNT, VBOR.

. Distinguish between correlation and regression. Explain their uses in economics.

REH0LI0G 08 BRIBOENTR), FZ A%, WHFIBTO SN YOTOSRNNTR), SISO
Define normal distribution. Explain its properties.
ARBRT, BT 299,509, J%. LBTT MOLVFEMNTT), DROR.

SECTION - B

Compulsory question for 80 marks scheme only.

a) Find A x B and A + B of the following matrices :

Lt

25 007 IngFowom A x B 202 A + B ot 30m0%B000.
OR

b) Explain the different methods of primary data collection.

TRPRT T 08 BONTEOD DG ARG, O
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ML.A. (Previous) Economics Examination, July/August 2011
Directorate of Distance Education
Paper — IV : AGRICULTURAL ECONOMICS -1

Time : 3 Hours Max. Marks : 70/80

Instructions : 1) Students who have attended 30 marks IA Scheme will have

to answer for total of 70 marks.
30 205717 20307 w‘as’éai:c? 2006 DR QFMED 70 05 w’g"ffwf
SVZOTIR.

2) Students who have attended 20 marks IA Scheme will have
to answer for total of 80 marks.
20 wosn® @oz0s TS0 2)0m Do P 80 wosny gInent
NZ ORI

3) Answer any FIVE of the following (Section A) questions.
Each questions carry 14 marks for both 70/80 marks
schemes.

4) Q.No.(11) in Section —B is compulsory for 80 marks scheme
only.

SECTION - A

1. Discuss the relationship between the farm size and productivity in agriculture in
India.

YT FACY, T LTBITDOOT THE, B YVTHWFIOD BBEIIS BOWOPHI) WL K.

2. Critically explain the Cob-Web model.
TOUF - 35T TRTOODTY QDTOTDF ZFeIN O,

3. What is meant by co-operative farming ? Discuss the importance of co-operative
farming in India.

REPO F2 03T 7 GPOITY, FHO FAcH FBII Wi ».

4. Define production function in agriculture. Examine the product-product
relationship in the theory of production function.

3 NO3OO) em@a’m WOWT DOTTERD ? YUIVTI WOLT Nmoéde“) W30 ms- wédﬁej SBOID

gowoddab TOdeDR.

5. Discuss the progress of Commercial Banks in providing credit to agriculture.
Zan A FRFRORY, w0y 23,080NF BN WFR.
P.T.O.
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6. Define major irrigation project. Explain the problems of major irrigation projects
in India.

BT ReTORD CIREEANTR) T, IRV, IRTIRY, QBT VRO OdpeREng AR R R0,

7. What are the problems of Regional Rural Banks ? What remedial measures do
you suggest to overcome ?

TR,TEIT T, Q0660 239, 08NS ROR TR 7 LeINY emoTaroN Aesg) 03RS WOTT §dsﬁe§s%
RRWROND ?

8. Explain the factors causing regional disparity on agricultural productivity in
India.

{RTBEY, T SUTELONOT o, TedT LRBIINTIN ToTEIIRTINT oBNTRY DOR.

9. What is capital formation in agriculture ? Discuss the extent of capital formation
in agriculture in India.

'oj)&xodoeﬁm 2OTBY ROLICIVZOTTERD ? LT3 %&oﬁa@m WOBTY B023CIT @mmm@ 23R
10. Define state farming. Explain the problems of state farming.
0BT %& QOTTERD ? ITFT %&o:b smﬁﬁmfag QRO
SECTION - B
Note : Compulsory question for 80 marks scheme only.

11. What are the problems of agricultural marketing in India ? Explain.
TS 32 BRTESD ARFRFTR) ? VSO0,
OR

Write a note on the sources of agricultural finance.
T & TESTDR TURONE 2000TT 530eeS €333¢3 23S0



